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Y .
x-&(—(zxut)] +hx =1
(2444 4x ] =0
THL A EXH 6+ Lx -] =

Sxi+ 20X 415 =g
Dividing by 5 we get .
ZXLL+ Lx +% =0
X+ +3x43 - o
a{xe1)s3 (x4t} =0
(x+1) (X43) =z o
xil=0, Xi+B=0owp X=—1 > X=-3

jf x=—l then from eq® Jf x=-3 then from@
Y =~(2-411+4) Y==(2(-3)+4)
J=-(-214) Y= (-b+4)
Y= -2 Y=z

Hence i(-l;—?_) >y U-3%, 2_)}

EXERCISE <.&

0-1 ?_x—y =4 — @
2XT-4xy ~y s 6 —> @
From D Y = 204 — &
Putting value of y wm equadiin @)
2 LX (2a-4)—(2 VY = 6
2~ oc 1162 (= 16x416)- ¢ =0
FOT AN -4 6K ~16-6=0
~10x*+ 322, - 22 =0
Dwiding by -2 we get
5x 16 —il=0
Sx*-5x -+l =0
Sa{x-1)—|)(x-1) =0
(x-1)(Sx-u} =0
A-1=Q , Sx—ll=0w=p» X=), X=ll{g
!fxr.l fhenjmm@ 5J£Dc:—.‘y5‘lh€nfrom@
Y= 20(N~4 Y=27) -4

‘jﬁz—"=h2 Lj_—_'ll/s -'—Lf
Y= 27_;-20= 2/5_
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{w-2), (M 2)}

0-2 X+Y =5 —Q
X 42yt = 7 —0
From(l) y=5-0C —»—-——b@
Putling value of ¥ 1n equatien(®)
xFe2 (5-x) = 17
x4z (25-10x+x") ~17 =0
X+ 50-20X+ 217 =0
3’20 x+33 20
It - - 1X4'32 =o
B (26-3) 1N ~3) =0
(X-3)Boc-11) =o
X-B%0 - Bx~-N=0

XA =3 > X= ”/3
‘j( 2=3 then {mm@ 4:1:35’"/3 1he_n-from®
Y=5-3 | Yy=5-Yh
y =2 y =124
| Y=4/3

| {(3,2);(”/5 ;“/3)}

Q.3 3xi2y=7 -0

Kol 25 4 2y 7

o _bxlr'?-»\[ls 25‘ ___}@
From(@D) 2y =7-5x w4 = 125% .6

Pui{t'nﬂ value Of\{ h eq . @)

3y -2 (V'f_x)z =25

AxT-z (‘1“”‘!22‘6+‘1x‘) -25=0

Bt Goc* - 422 +49 Y

(224 a5 -0
6"~ (AL’ ~42 x4+ 49) 50 =
Ex*—axt 42X -49-505 -0

~3AX+42x -9 = o
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Dwtdmg by -3 we tjet
X =14 +3% =
X ~3oc -l +33 =0
A (X-3)-i(x-3) =0
(x-3) (xx-11) =0
X-3=0,X—ll=0wp =3, ||

: If x=3 then fmm@ If'x,=|| then from(3)
L y=1-3 Y- z;S_Lm
| ¢ 35 2
3__,1:ﬂ=:?:=-1 3—7 :“7'6
z T
Y = -13
{z,-0, (i, =13}
0'4‘ Xty =9 —> DO
243 .
x'“fj‘ fal
Multiplying by Xy we gel
or 2y +3% = 2xy -—=> (@)

From@ y= 5-X —>

Pu{'{'inﬂ value of y in equation ©)
2(5-x) +32 = ex(5~x)
10-22C+4 DX =10X —2x*

O+ = loxa—axl

225 —10X 4t X 410 = ©
2x°-9%x +lo =0
20t -l 50+ 10 =0
Zx(xhz)—‘f(x—‘&) =0
(X-2)(zex-5) =@

X-2=0 2X - =0
X = Ly a = S/2
If x=2 Thenfrom 3 Ifxa% then {rom(3)
Y= 5-2 CYy=s5.5
Yy=3 .
H=lo-S
| 9=%
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If x=0 Then ’{;‘bwn@ If

egal ecture@nai | . con

{(2,31,(%;94)}

Q.5 :r+y Zath —3 @

a

-x"'l'\{ = 7 |
or ay 4+bax = 2uxy —0> )
From () Y=a+b_ X —> )

Pu“lnﬂ value of Y moeq-@
a{oth-X) +bac = 2 {ct+b-x)
Q4ab-8L+bo = 2ac42bx - 22
2200 -2bx-axX +bx+atabro
2x*- 3ax -bxt+al+ab=0

usiﬂg x___.“b"_JbL yac

4.
—[ (Z’m +i.)]+ J G0 g2y (a%at)
2(2)
x = {38+b) + [(3a+b)8(at+ab)
4
<= Badb)t [q e o T
4
_ (3asb) [@7F~ 2ab
7
_ (3asb)t Jla-b)?
&t
t(a-b
x=(3a4b) ( )
Ba+b+0-b X = 3atbloh)
z:—— ) -
4 “
I | or = Javb-ath
5 “
2a+8 - a+b
- ; ¥ e Ih
A = XL i g v

“j =a+b—a 5—.:.(11b«-c“b
3.= b 352‘3"'3‘3—&—5
bz
- at
3 ra
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{(G;b) (a.;—b 9{2)} L F}-u,mC)%j D '—"‘?O

Q 6 3% —riiy =25 O Puttmﬂ value of Y i equation ¢1)

5.4 U acta (26 e g wd g E

o x’ Y -2 e x* o+ ux ~2L«x4515w6_(+¢' e

i or ,334- 4% = Ry > (2) o ot ‘)U.& = L,o

’ From®¢iy=25~3x—}v_l—: E_?*E_‘;”_f___)@ Din‘du"wﬂ by s e 3(‘1

EE ?uﬂinj value of‘ gy in equolion (2} Coxt b 48 2o | %
.r 3(_3__'?___??._95)+z,x gx(f_i.;i:”.‘) . ”""-f_.v: SERE 'O,_,_;w
( Mult!Flymg by & we 39( PRI SCS .:)—- 4 (..c ;2 )b s I
s(es - Sx)ﬂfx =20 (25~ 5%) 1'-)C DIORPERIE

- TSy 16X = 50X - E T I T

k I = SUI-"()J: . B Y S SR R il

(. 6= SOxﬂx +7§ o " {i% If x=2 Shcn j’mml@) W x;c..—g,:_j\hen from®
@ SXemcrs bo L ylew)-yn, Y- B4R
6.£ —fﬁx 25 xn': O Ly .1:}%,--ﬁ5__'8-'ﬁ'é,? 4
; 6x(J:—3) zS(x 5)——0 ‘l("¢'>~;"«4’)a(ﬂf+,2)’§ N

:[ (x- 3._):(69& _ZS)‘ = Tt

o - l‘ ‘ 4 R . ¢
> e =R ‘or X ~+6.c+"1+y -lg g
Ifxsfhmff"ﬂ@ Ifx“&%fwf""“ x*‘d Pa6w £J+5-o——-;)()

;l'.-::’)z

lézzs-qscm. 5=-ff__5:’i‘_f_/{z i e v
U ﬂltl. 33—{:9 = 321‘,(4%‘-%) .Aor"'x +';I +U —Y —o-.“.:..-‘
¢ t =_L§, _; ¢_' 'Ig,{’j(.{o-zs‘ - SuBme‘l iny eq,- @f"ﬂm cho
E R ‘ L;‘ ?_ZS“ ;_?8:;. ;-\;qlm*ﬁfQ){ 2y +5 =0, }
E {(3 m, 2—“/,2_: )} X _ir:ii_-um-{m -;_Q_é,
T X iy s o

z '('-‘x'"’;’)-z_"ﬂz" 5 eu iyl

b X bEAAryd o s ST ;’J TV

- &Clrfu_?',.—é:-_r +i = o _._._,@ J=ewer ‘?
2X=Yre s @

Dl'vl'aliv\f‘t L“!-gki we CJC(

2
metmg value of Y fn e%ahon@
.XZ 1(2J~+7) 42X —4 =0

WWW.MEGALECTURE.COM
WWW. Yout ube. cont neqgal ect ure

. con

Page 3 0of 4



what sapp:
FSc-I- Ex 4.8- 4

+92 323 509

ac?'+l19cz+29:x+l'Q+2x-—-q,;o-

gt + 300 440 =@

Diﬂ'dl'ﬂa b'y 5 e jat
x+bx+8 =o
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X = _qtm

|O
x= tl357e J{‘»x:“" t] 4x8q

1O
L= 42 2fgy ~21 [ pe
xt r2oe ot =g T ke L(—“"llo@i:’
X(X4+2)+ 4(X+2) = x = 22/0
_ g
I+Z) 'x+ = -
xi , ( L) © i x’_ié_@_?”rcn frem Ij' X “2"@-3
=0 y X+ =0 ' Th 5"
: ) =22 'H.ﬁ—f e frem @
X=>2 , o =l 4 ( c ) 'H'—"L(;l“@)
If at=-2 than from @ | I % = ~4-then from Yo —4+2. (54 5
: Y= 2(-2)+7 Y= 2(-4)47 > 'j=1"..§.i§i
Yy=-t~+T] Y=-817 -2 +I89 ~442/50
. . 6? '_—""*-'# -.r" —————._.- ]
d=3 Y = - ‘ {( 5 )'—""5:—!)(158?" ‘15@1}

{23, (-4,-0]
0-9 e (g =8

x4 ‘jL+2LJ+| ~\f =0
Xy e 2y~
(xez)yey®=2b
KHUL +q4y 21 =0
x5y b 1T o—>Q@
Subqudlﬂg eq D from ecv-(D
Xyt +2y -1 =0
'J:‘ij-rf-tac —i7 =06,
¢y —4x=0
2y UL =0 ey 2A=UL = Y=2X
R,‘H;mt) value o Yy h Ecw.adi‘on@
A (2o ) it —17 =0
Xt Gt E L ~17 =0
5 xﬁ-qx—w vl

u.sl'ng o = o W
X3

2= —ur (4 -4 )
2L5)

:.O—"‘-""-‘?®

f=1

-
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0&1 0 x"+3"+ 6x =l —a()
Jti-é-yz.y 2{x+y) =3 '
Y22y = 3 —Q
Subl racti'ng equ ation ® jram@'
¥ +y 4 6x =)
Lyt 2R 12y=3
HX -2y =-~2
D|‘w'din9 bg 2z lue gat
2oy = -

or

d> = 2 4|
Putting values of Y in equation D
e (2 v 1) 46X = |
xSt G4l + g -\ =0
sxtalox =0
Sx(x42)=0

Sx=0 , X+2=0
X =0 )y W= -2
I:f’ x-=0then 'ffﬂ'"@ T4 = -2 then J(rom
Y =2(0)+1 g=2(-2)+|
y =1 Y=-4+1=-3

{(0"),(-2,-@»)}
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